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§
N.B.: (1) Question No.l is Compulsory. 5/‘\
(2) Attempt any Three questions out of remaining questions. \0-7'
(3) Make suitable assumptions whenever necessary. (ﬁ\b
Y ()
I.a) Explain in short how Hidden Station Problem is Avoided in WLAN. |
b) What are the Deployment issues of WLL? @/q’ 10
c) What are the general problems of satellite signals travelling @m a
satellite to a receiver ? Q‘?‘ 10
d) Explain how Mobile originated call (MOC) work. <<7$
e) What are the characteristics of SIM ? = 10
C)\
2. a) Why is Mobile IP packet required to be forwardgg}éﬁlrough a tunneL 10
Explain IP-in-IP Techniques of encapsulation of e IP packet.
b) What are the modifications require to an existig® GSM network to be 10
upgraded to GPRS, Explain with the help o’aﬁagram.
10
3. a) Explain in detail HIPERLAN/I physwalfﬁgajyer
b) Explain in detail4G architecture. C/O 10
N
4. a) Explain in detail Bluetooth Prot@ol Architecture. 10
b) What are the security issuesdien mobile Computing.
10
5.a) Compare HIPERLAN 2 \@ZUETOOTH IEEE 802.11.
b) What are the diffemn@ pes of Handover in GSM ?Explain in Detail
Intra-MSC handove¥
QL
\g‘
6. Write short notesc;ﬁn the following. 20
a) Role of SUM{_R‘ register in satellite roaming.
b) Android ponents.
c) Locatn&f?‘management HLR-VLR scheme.
d) Dlglt@\} Signature.
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Correction

Q. no .1

Will carry 20 marks each sub question will carry 4 marks.
Q.No.5B

Will carry 10 marks
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